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Radical Form and Exponential Form of an Expression

1
e oSt 38 g S - e IS (8)2 G Fisie L1 38
-« 53 Pl 560)”

503)"? =53

' axé';égfud_%ccﬂdfgu}fd;@JWI b’gf:ljﬁu.w;fugi:ﬁa YU e
..uj.?_'):f{{ Table) Jse ) 36.::(74.5. a e Ptat

Sl | Sl s
(I) (Q/E)n —a [ﬂ%)n =a
(iﬂ Q/a_b = dt; %ﬂ!—a (ab)% =H%b%
a %Ya a / a%
@ (ay Yo" @y =@ )" =a’

137




() (@) x(@ by

(i) (a’b’ )% x(a%b)%
= ab x a2
= 2 x4
= o/ xa xb) x b
R BT A/
=/ xb A
g/

v/,

0 v P

(i) J(a’b")%(aysb%)

o \/a%xb%xa% Xb%

= Ja9+%2 b2+%

..-(.I'U Aaxts & -:ldt‘}

Sp

(ii) 'I% - x%

- g
7
= x4y
= xrj_a%i'
= (x)-/fz
.
h

) NHiex? &P 2 b
L

(ii) .I% +x:3j1

7

= x_%

TS
’ 3+312
H 11

A AE

%



..L‘/U' #ufzdxmfﬁ Vw”)!'b"u—a!’[&d)ﬂ 6. I

Transform an Expression into Radical Form fo an
Expressmn into Exponential Form and Vice Versa
-u‘é:u"tt"f:zﬂr"c_ |

dar e -1

7.9

i) Ys1a® Gi) 27" (iii) 3 sz |

W 81® = @1a*) =
s (34’ azs)};
= 3%}(02% y

=3xa’ =34

@ L% = @725
= (Fxa )
_ %%

=3fxxﬁ

7= 7 9V
s Xy i PN




| TR R RS R RN R R ™
_ S pt Pl e =12 JC"«‘
(i) J18x364 (ii) @ PR (iii) (a%b%r )% +(a%b% )%
i) N18x364 = 18/ x (64)'5 e
= (9x2)/2x(2° )5
= 9/2x 2Vt x %5
— 9%‘ % 2I%ﬂ

-0 )

= \ox2'%

(ii) 2 2% Pt 3 22

_ 4
S a6+3-9!2
) au-pm
_ e

e I?aj’

i) @55 b o = ety oS
> (@42 )+’ b8
T e R
L e W



617

-‘é-té.ﬂ.?’;:bkbﬁd HOP I

) 3 (i) 4+3Va (i) 11

. 5 uel

(iv) 8§-26 v) = (vi) T
-Jfﬁ{ v Hlin 2

W) J (i) 3o (iii) T ™ 7 ;

: , SIS e 3
(i) (25)A (ii) (64)/3 (iii) (81)% | (iv) (2?)A
(v) '(27)%' (vi) 8§/ (vii) (1000)% (viii) (64)5/ :

_HrPveinnst
RN R N R

w {2 i) Y81x*° wii) 125 x°y° i) «J(8+ y)?.-;-
(ix) {16 x° y° | (x) (xi) dff_y (xii) (/—

(i) J3x7 (i) Y4 x3[128 (iii) J_Ix52

)2 +432 ) Y118+42 vi) 27+
(vii) a% xa% (viii) x% x yy (ix) (x/ /s )5
() (52 x xS (i) (232 ) x (P y) |

aii) @5 @ W i) 62 ) <6y )

4




LAWS OF EXPONENTS/INDICES . 1/2 132 stie 7 6.2
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LOGARITHM ¢/ 6.4
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Common Logarithm (E.: §4.% 6.4.2
L Srbelog m S log ym fi_e b AT AT RLEIO

10" =10 log 10=1 ; 10° =100 <> log 100 =2
10° = 1000 < log 1000 = 3. etc.

m-’:ffn.famg(a;):—f,

oy
100" =——=0.01 < log (0.0])==2
100 < log (0.01)

(i) log x-2)=1 (i) log (x+3)=2 _z=f - B

0

-E..:‘:L/Ub'*"'if!ogayzx = arsy

() log x-2)=1 = 10'=x-2 = x-2=10

= lx=12

(i) log (x+3)=2 = x+3=10° = x+3=100

e =G

Characteristic and Mantissa of a Log of a Number £/ >

mantissa) L2 ¢ /ﬁl( (& haratfrisric).fﬁf‘i’ Sose é:b{g-?_ndf nd 2; ). mo'( |

v -8
{(Bar)e SV g Jlr‘?;’mﬁ.»&,—a = e f&ﬁﬁm@ﬁ_.‘awycﬂiﬂfbﬁ‘
e —2+0.7638 MrK2.7638- 22 {2 A tSpd b s

154



Finding the Logarithm of a Number Lfr':’-”(;{ 66 -f__
Characteristic of a Number
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5376.4 - 5.3764x10° g
537.64 5.3764%10° 2
53.764 5.3764x 10" 1
5.3764 5.3764x 10" 0
0.5376 5.376x107" 1
0.0537 5.37x1072 2
0.00537 5.37x107° 3
0.0000046 4.6x10°° 6
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log 438.5=2.6420 >  log 0.04385=2.6420
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log 4.3=0.6415

log 4=0.6021 %7
log .04=2.6021
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gEead
@) ABSi06ss (i) IS 1.204
i) AFI13612 (i) GG 3.4568

4.508 )

i) AHG100.654)

@) AG (1200 = 1600
i) A (13612) = 0.2297
(v) PO (34568 = 0.002863

2L 3.4619 1 1.3612, 3.1946, 2.0018 ()
ZEJ 746342 <2 2.1375 (i)
e 6 f 34103 (i)

ZE e 1505.1820 (W)

(i) 1.3612+3.1946+2.0018+3.4619 L

= —1+0.3612+3.1946 - 2+0.0018 - 3+0.4619

= —6+(3612+3.1946+.0018+.4619)
= —6+(4.0195)
= —2+0.0195

= 2.0195
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(ii) 2.1375-4.6342 = 2.1375—[~4 +.6342]
= 2.1375+4—.6342
= 6.1375—.6342
= 5.5033

(iii) 3.4103x6 = (-3+.4103)x6
=—18+24618
= (-18+2)+.4618
= —16+.4618

= 16.4618

(iv) (5.1820)+15 = (-5.1820)+15
= (-5+.1820)+15
=—49180+15
= -0.3212
= —1+(1-(3212)

= 1.6788
"":3 .,_,,1 :::’
_ér;h’x?xiagx = 0.5019 /i (i)
_’_é’rs"’ﬂniagx = 2.5321. ) (ii)
(i) log x = 0.5019 5 Jf’

~bk logx —¢
LK logx  =0.5019
we st Ul d LB o Jupl Fy
0.5019=3170+7=3177
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x= A8E10.0519
x=3.177

(ii) log x = 2.5321

~b¥ logx =2 E

LK logx =.5321 ':'-‘
_r_mJ.LWJu.Jhuﬁdjx/b?Ji-_J

5321 = 3404 + 1 = 3405 _3

Wiz Ut e da S LS 05 e 2 a6 By
™ P sl 25
X = ﬁ‘b’ﬂd"’-l 2.5321 |
=0.03405
x=0.03405 ¢

6.4 7

(iv) 0.8657 (v) 0.0732 vi) 0.000721

" (iv) log 0.0057 (v) log 0.00003

(i) log6.374 (i) log 0.6374 (iii) log 0.00637

_-qfd_ﬂi;b’.sfﬁfﬁté.aufd’_ SOV §
6350 (i) 2035.6 Giii) 2.057

i, 2

(i) log52.13 (i) log 6.304 (iii) log 0.6127
e d S itninlog 6374 =3.8044/1 3

i fainlogx=20374/ () 4
_Ebred $xdelog x=0.1597/1 (i)
_Z i xinlog x=44236 /1 (iii)
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(i) log,(mn) = log, m+log, n
(i) log, [-’E] = log, m—log, n

(iti) log, m" = nlog, m

x =log,m ... (i)
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af é&}?(ﬂ > I.gé).;_u' L-'ic)ﬁ ...{’a .r:l‘u:r:Lwl‘J-'? -.':-;tm!’m/ﬁ (ii)

x = log, m...(i)
y = log, n...(ii)
a=m a’=n L
5
el
=q .a”’
=g 7



m
Iaga (_) =
H
m

log, [;) = log, m—log, n ::..L/émc_ugf(iwﬂﬁ) bf‘zd/y;ﬂx

x=log, m SEEP (i)
=
@) =m" o
PP

log, m" = nx é_u‘!

log, m" =nlog, m o omeii

APPLICATION OF LOGARITHM J-1J¢Y
Ly b log milog,, m At ZE PRSGAG L1001
(i) 3log2+log 5=log 40 ek -1

(ii) log2+2log 5—log 3—2log7 =log [%]

9 35 15
i) log| — |+log| — |-log| —| =0
(iii) ag(j4) 0g(24) ag(!ﬁ)

(iv) 7 log (%) +5log (%) + 3 log [%J =log 2



(i) LHS =3log2+log5 -
= log2’+log5
= log8+log$
= log(8x35)

= log 40

=" RHS
3log 2+log 5 =1log 40 S
(ii) L.H.S log2+2log 5—1log 3—2log7
= Iog2+log 5% —(log 3+ 2log7)
= log2+log 25 —(log 3+log 7% )
= log(2x25)—(log 3+log 49)
= log(50)—(log 3x49)

= log 50—-Ilog 147

. (ﬂ]

&\ 727
= RHS | [
ii
9 35 15 |

R et e o Coa] BEPR F 8 R i

(iii) og(MJ og(MJ og[mj |
il |
HIE 26k L5 i
i






ZES -2 6
0 log32 (ii) log27
log4 log9
., log32 log2’
I = -
ot log?? S
_ 5log2
2log?
g2
==
log32 5
og e 2
log4 2
3
(H) logz? = lﬂg.?z
log9 log3
sdiepd
2log3
S
2
log27 3
. = A
log9 2

-E L ek -3
(i) log 5 + log 6 — log 2
(ii) log 88.44 + log 66.76 — log 48.55
(iti)  log 7.44 + log 5 + log 99 — log 7

(i) log 5+ log 6 — log 2 - J‘?
= log(5x6)-log2

= - Jo (5X6J
>3
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(ii) log 88.44 + log 66.76 — log 48.55

—

log (88.44x66.76)—log 48.55

[88.44x66. 76]
= log

48.55

(iii) log 7.44 + log 5 + log 99 — log 7

= log(7.44x5%x99)—log7

_E S bl L6

logx =

I

(144x5x99J
log

7

=

847.5

25.36x2.4569
847.5

[25.36 X 2.4569]
log

847.5

29 2.4569 4
5.36 x =il ;__,Il/'

Y7

-

log (25.36 % 2.4569) — log (847.5)

log (25.36) + log (2.4569)—log (847.5)

1.4041+0.3903 - 2.9281
—1.1337=-1-0.1337

~1-1+1-0.1337
~2+0.8663

A (2.8663)
0.07351
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log x

: S BRI
Sl L6 47.82% 52.24

8492%3.72

~ vmoin WP S

: ( 3492x3.72)
47.8%52.24

log (8432x3.72)—log (47.8x 52.24)

log 8492 +log 3.72—(log 47.8 +log52.24)

log 8492 +log 3.72 —log 47.8—log 52.24

3.9290+0.5705-1.6794—-1.7180
4.4995-3.3974

1.1021
ARIGH(1.1021)
12.65

=2 dGdnds = 1265
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n=3.14 5lv=1190, R=83.6,r = 62.4 ZZE - hivh =

@’ b’ ¢ | Lk
(i) Iog[ J-!»Iog( }+log[ J 0
be ca ab

(ii) 3log 2+ 2log 3+log 5=1og 360
(iii) 5log 3 —log 9=log 27

2 32 5
iv) / =21 — |=log2
(iv) 03[16)+ og[z‘ﬁ) og[g] og

11 130 55
21 +1 ~log| = |=log?2
(v) og{”] og( ?7} og[ ] og.

3!0g4+2[og5—§!0g64—%10g1’6=2 _.g-’:.:.r,b‘ -6

log (1x2x3)=log I +log 2+log 3 _ZE=rb ~T

_idpjo'ifp‘)u:lédw‘ldjprﬁﬁ -8
() 69.13x0.34x0.014 (i) 867X394 iy % 5 1405
3

178
2
(iv) (25.36)° x(0.4569) ) 0-98?6><(Ig-342)
847.5 (4.567)
i) [3N00125BLIS () (645) x(0.00034)'7 x(981.9)
2 1/4
0.00081 (9.37) x(8.93)"* x(0.0617)
(vii) (0.0437)°" x(1.407)°
(0.0015)"7 x(1.235)""7

L=150, g=32.16,n=3.142_F & o# vinv =, /%i S 9
: T

' 2
(=25 1=13, R=67 fp Hiner = 2Lf1 10
: =

,,
@
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(a)
(c)

(c)

\[\TE =? (ix)

B 2
@ 27

243 6 Haki(2e3 ®
(b) .g..uyt

O <

o bde 2
;{'/E;ﬂwyta,gmﬁg?t/f%ﬁ (i)

Y, -8 S =t (i)
- S5 (i)

-pe | Jaka" (V)

B ES LI )

i@ d)ﬁé‘_’uj 22l I;‘j B{Ju:fsﬁgf( (vi)

-8 Lo§ kAL s i)
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P
@) 6y ) ex 5 )75

(i) (@b ) + (@7 )

() X7y %y + (9

LAy
£ (J {358

3
( x4><5) =Iog3 .|_]gg4 +Iag_5—log7 é-:-':b

log

= éd’ - JAJJH;(?: f)‘yﬁ_ 3l

(i) 62.14x0.32x0.015

. 3.64x3.94
i) —————
L 2.78

(13.26)° x(0.4564)
325.5

(iii)
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